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n @ WEOWEE[mo]
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[mol/L]
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IR 1L IS E 058 OW'E & (mol)
1 mol/L DIEWR = 1EH 121,

W& 1mol %2, KIZIE/PLTLILIZT D,
WE 1mol 2, 1L O/KIZED L TIZWT R,

C[mol/L], VImL]H®D, H"EDME=E

\" Ccv
—— [L] = ——— [moal]
C [mol/L] x 1000 1000

KIKZEL>-MWEDRE
Na,COsZ A7 L T, 1mol/L @ Na,COs &= >< DI
Na,CO; (=106) % 106 g Ht v, /KIZIEMNLTLL £F 5,
Na,CO; * 10H,0 Z &7 L C, 1mol/L ® Na,COs Ak = > < HIZiE
Na,COs - 10H,0 (=286) % 286 g Ht v, /KIZIEMNLTLL &35,
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AR 1 L TERDE
( 1000 cm3)

RROERE 1000x d g

cooco AHEIZOWNWT (HFE M)

00000

MEEE ¢ mol

BEEE m g = ¢ mol x M g/mol

BE/N—t 2 MEEL

BENDEE C x M
—— — X 100 = x 100
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(1) 0.10 mol/L DK #E{kF U 7 5 ( NaOH )/K¥E# % 500 mL > < 0 72\, fif g D
KEEAET N U T LDLED,

(2) 0.20 mol/L ®Eft7F kU 7 A(NaCl )KiEik %2 100 mL >< 0 72\, {i] g Dk
TR U T BRI,

(3) 1.0 mol/L D fEEEER( CuSO, )KIANE 2 100 mL > < Y 72\, i g ORREEER LK Fn
¥)( CuSO4+5H,0 )N & FE Ay, CuSOs =160, CuSO,-5H,0 = 250



(1) 0.10 mol/L ®/KEE{tF ~ U 7 I ( NaOH )7k &% 2= 500 mL
KT N U T AR,

B DOIRE 6

S DT, fifg D

0.1 mol/L X 500X10°L X 40g/mol=2.0g¢g

1L e 0.1 mol = 4 g
(1000 mL)
500 mL """"""" mol = X g

(2) 0.20 mol/L @ b7~ U 7 A(NaCl )k %2 100 mL > < D 72\, fif g Dk

VAN L TN

0.2mol/L X 100X 10°L X 58.5¢g/mol=1.17¢

1L
(1000 mL)

100 mL

0.2 mol 11.7 ¢

mol = X g

(3) 1.0 mol/L DHEEESRH( CuSO, )/KIEK % 100 mL > < V) 7=\, il g OFREEER T K Fn

#)( CuSO4+ 5H,0 )35 4 B o,

CuSO4 =160, CuSO,4-5H,0 =250

1 mol/L X 100X 10° L X 250 g/mol =25 g

1L
(1000 mL)

100 mL

250 ¢
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(4) 0.10 mol/L D& 300 mL & 0.20 mol/L DR 100 mL 7R A L. KEMZ T
500mL & L7z, Z D/KEEHRDE VI EE X mol/L 7,

(5) 25 % DR DEFEIL 1.18 glem3 TH D, I OFiLEED T /LVIREE (T mol/L 7>,
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(4) 0.10 mol/L % 300 mL & 0.20 mol/L DR 100 mL Z#iRA L. KEMZ T
500mL & L7z, Z DK DT /LI IXT mol/L 7

0.1 mol/L X 300X107° L + 0.2 mol/L X 100X 107 L
500 X 107 L

2 2
i 3 X 107 + 2 X 102 mol N

5 X 101" L (1.0X10"mo1/L)

500 mL e 0.1 mol/L X 300Xx 103 L
4+ 0.2 mol/L X 100X 10°L = 0.05 mol

(R E—
(1000 mL) 01 mol

0.10 mol/L

(5) 25 % OWFEDE L 1.18 glem3 TH 5, Z DitlE D E /L EEIX (] mol/L 7>,

1L CTHEZ25
2 3 3 25
1 L fForgogeE = 1.18 g/cm® X1000cm® X — = 295 g
295
1 L FORBOWER = g = 3.01 mol
98 g/mol

(A) 3.01 mol/L




